
Supplement : Dot Product and Angles :

Goal : To#
a-

ñ.b=1ñ1lbTcof-
0) Notation : ñ= La , ,az, as>

I = (bi.bz
, bz>

1) Observe a-• a- = ait ai + af =/ oil ?

2) Compute

tail:@-5) • ( a--5)
= E. a- - b- •E- a- •I + E. I

= tail
'
- Zñab + I. I



3) Solve for a-Ñ :

a-I = { [ tail :-/ b-F ta-it]

4) Ponder this diagram :

I
bit Cñ-5)= a- ✓

5) Law of Cosines

:#
2 AB cos ① = A-+ B

'
- C2



🎉
6) Combine steps 33,4), 5)

with A- lñl
,
B. =/ 81

,
G- lñ -81 :

oi.b-tzf.la/IlbT-la-It]
t
= { [ A- + BZ - C]
t
= { [ ZAB c.so] (by step 8)
t
=/ a-1151 c.so.

That is
,

a- • b- = lillblcoso
.


